JPDAVPUBLIC SCHOOL, GANAUR
HOLIDAY’'S HOMEWORK - 2019-20
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MATHS
General Instructions:
. ¢ Submit your work in a file/folder with a cover page. Present your work neatly.
. * The work should be hand written.
. ¢ Solve the questions in the worksheet itself or in space provided for each question. Use the perforated

sheets,if required.

Manage your work in such a way that a little work is done every day to avoid piling it for the last moment.

The Digital India programme is a flagship programme of the Government of India with a vision to transform India
into a digitally empowered society and knowledge economy.

Aadhaar program was launched with a main objective to provide universal identity to every Indian resident.
People can now get the card with much ease as its acceptance as a mandatory document for various initiatives
has been officially made. In addition to this it will help in reducing the corruption since every individual carries
only one unique number. (12 digit unique identity number).

Considering the increasing acceptance of Aadhaar card it is must for everyone to get it issued. It is believed that
the card will further be given more importance as more and more government schemes are being launched
requiring it as a mandatory document.

1. List some most important benefits of Aadhaar (12 digit unique identity number).

2. Everyone in your family will be having Aadhaar card number.Form the greatest and smallest 9 digit number
by using digits of your aadhaar card number.



For eg. If your aadhaar number is 1224 3564 6798 then form greatest and smallest number by using digits
9,8,7,6,54,3,2,1.

3.write the number name of these numerals by putting commas between their periods in Indian and
International system of number numeration.

4. Find the sum of place value of digits at tens place and hundred thousand place.

5. Find the difference between the place values of digits at one million and ten thousand place

REVISION WORKSHEET

Q1 What should be added to the difference of 380165 and 264425 to make it equal to their sum?

Q2 A student added 184 to 57384 instead of 148. By how much was his answer greater than the correct answer?
Q3 In a food corporation godown , there was a stock of 2753680 quintals of grains. Out of this stock, 754260
quintals were sent to Assam and 542800 quintals to Manipur.How much quantity of grains is left in the ground.
Q4 A businessman earns an income of Rs. 100 on the first day of his business. n every subsequent day, he earns an
income which is just double the previous day’s income. What will he earn on 10th day of business ?

Q5 Ashwin purchased 60 packets of biscuits with each packet containing 50 biscuits. Ashwin has 6 friends . Each
one of them is given 10 biscuits per day. For how many days the biscuits can be given.

Q6 Pieces of 90 cm length have to be cut off from a 226 m long wire. How many such probable pieces can be cut off?
Q7 A fund of Rs. 97,75,404 was needed for an OLD AGE HOME. 162 families decided to raise the amount. What
amount will be donated by each family?

Q.8 20000 people came to watch a cricket match in a stadium. A stand in the stadium can seat only 225 people.
How many such stands have to be made to accommodate maximum number of people? After seating the maximum
number of people , how many people will be left out ?

Q9 An industrialist decided to donate four lakh rupees to an Educational Charitable Trust. He planned to pay Rs.
2000 per month. In how many years and months will he be able to donate the entire amount? What value is shown
by the industrialist?

Q10 What is added to the smallest 5-digit number to get the largest 5-digit number?

Q.11 The difference of two numbers is 34,321. If the greater number is 19,867, find the smaller number.

Q.12 There were 8,45,657 teak trees in a forest. 5,67,890 trees dried up due to scarcity of water. How many trees
are left in the forest?

Q.13 Sanjana’s family were out on a holiday. On the first day they drove 73,900Km. On the second day they drove
45,290Km. and on the third day they drove 28,958Km. How far did they drive on those three days?

Q.14 In a granary, there were 3,85,306 kg of rice, 1,73,677 kg of wheat and 23,09,745 kg of maize. What is the total
weight of grains in the granary?

Q15 From 18,305m long wire, two pieces measuring 13,456m and 2233m were cut. Find the length of the
remaining wire.

Q.16 A factory makes 36,134 utensils in a year. How many utensils can be made in 291 years?

Q.17 The product of two numbers is 372. One number is 31. What is the other number?

Q.18 Find the dividend, when

Quotient = 230 Divisor = 56 and Remainder = 32

Q.19 There are 67,703 sticks in a bundle. How many sticks are there in 926 such bundles?

Q.20 The cost of 25 bikes is Rs.75,950. If all these bikes are equally priced.What is the cost of one bike?

Q.21 15 friends together purchased a cricket kit for Rs.47,925. How much money did each friend contribute?

Q.22 4,80,024 guavas were packed equally in 24 boxes. How many guava are there in each box?

Q-23 In a hostel 45,089 litres of milk is supplied everyday. Find the total quantity of milk supplied in the month of
May and June?

Q.24 29,345 apples were divided equally among 43 persons. How many apples did each one get and how many
remained undivided?

Q25 Mr. Anil spent Rs.12,23,450 on the petrol on Monday. He spent Rs.16,670 more than that on Tuesday. How
much did he spend on the petrol on Tuesday? How much did he spend on the petrol on both the days?



Q26 In an examination 5,06,212 candidates could get through. Out of these, 1,97,538 passed in first division,
2,38,604 passed in second division. How many passed in third division?
Q27 Subtract the sum of 14,789 and 8,690 from 92,000.
Q 28 If one suitcase and one bag costs Rs1240 and Rs525 respectively, find the total cost of 7 such suitcases and 14
such bags?
Q.29 If a company manufactured 2250 pens in one day, how many pens will it manufacture in the month of April, if
there are 4 holidays in the month?
SCIENCE

1. Revise full syllabus done in April and May.

2. Draw a well labelled diagram of seed germination with steps in your scrap file.

3. Paste 5-5 pictures of extinct and endangered animals in your scrap file.

4. Write five extra questions along with their answers from every chapter on A4 sheet.

SOCIAL SCIENCE
1. Learn the entire syllabus done in class.
2. Prepare a Family Album (Small)
3. Make a chart on the following topics: -  “Sensitivity towards Others”

4. Make a scrap book and paste India Political Maps in it as per instructions given by the teacher in class.
aEpd

* GFEQUT oIEe T EhUgH A H

AT FY -

1- 3(eTshdTeh (Ul of°) 1 & 20 Th & B He=ifafld & ¥ -

F- w15 N @ wal & a1 R gfea @

- fohegl o| 3 & =1\ foT afga ot

2-37Tsh TR (U o) 21 ¥ 40 T & O H=TAET I Y -

% el ou afeorat & a1 Ry afed AT

T- gl <o ufeat & a1 Ry gfga df@u)

g FIA FT FA -

F&TT H HLERT 3T FFOT (ART) IreashA ([feted) aig &)

GENERAL KNOWLEDGE
In a separate note book do test your wisdom of unit 1, 3, 6.

Complete unit 3 in G.K. Book
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DRAWING
1. Make five flash cards of your favourite cartoon.
2. Complete your book upto Pg-15.
3. Make any one thing with craft .It should be beautiful.



COMPUTER
Do Assessment Activity on Pg-40 and Complete Pg—-6,11,14,15,17,18,19 and 20 in Book.

ENGLISH
Q1. Do sample paper by downloading from school’s website.
Q2. Write down 200 verbs form like:

VERB: PRESENT PAST PAST PARTCIPLE | PRESENT
(in hindi) CONTINUOUS
........... Eat Ate Eaten Eating

Q3. Write and learn 20 words used as noun and verb. Frame sentences.
Like: 1. Plant: Noun
Plant: Verb
Sentence: Plant a plant.
2. Drop: Noun
Drop: Verb
Sentence: Please, drop some drops of water on this flower.
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Form nouns out of the following verbs:

Eg. Agree agreement
1. deter

2. prove

3. fly

4. suspect

5. grow

exist

lose

6
4
8. consider
9

. see

10. resemble

Fill in the blanks with the auxiliaries

1. Rice and curry easy to cook.

2. Five hundred not a small amount for him.
3. Neither of them understood this chapter
4. The shorts shrunk.

5. Sons and Lovers - afamous English novel by D.H. Lawrence.

6. Ten days too short a period to prepare for the exam.

7. Each of the books available there expensive.

8. My parents bought a new bicycle for me.

9. Three and four ____ ¢ seven.

10. Either you or | ’going to stand first in the class.
Complete each of these well known similes :

1.Ascoolas a

2. As heavy as

3. As sour as

4. As timid as a

5. As stupid as an

(10 Marks)

(20 Marks)

(5 marks)




M words in column A wi i i | : (20 marks)

A B
a) Inferior awake

b) Freedom seldom

c) Often superior
d) Senior slavery

e) Independent refuse

f) Exterior junior

g) Fertile deny

h) Accept barren

i) Admit dependent

j) Asleep interior

Give a homophone for each of the following: A (20 marks)
Eg. Accept - except

—

. Blue

. Flour

Died

Decent

Hail

Course
Birth
. Allowed

. Sell
10. Bored

© ® N O o A w N

Do as directed without changing the meaning: (10 marks)
1. The book is too for me difficult to read. (use so.....that)

ans)

2. He is not unhappy with you. (change into positive sentence)

ans)

3. The Ganga is the longest river in India. (begin the sentence with ‘No other’)

ans)




4. ltis terribly hot in Jaipur. (change into exclamatory sentence)

ans)

5. Amita is not able to do these sums.Jolly is not able to do these sums. (join the two sentences)

ans)

Read the following passage and answer the question given below:

Just 130km from Delhi, at a small clinic on the highway,-disposable needles and syringes are freely reused.
The treatment for any minor ailment is an injection.

The doctor is a specialist in ‘ear, nose, throat, skin; and children’s diseases’. He is not aware that the
contaminated needles could be carriers of hepatitis.and HIV. They could also cause serious :bacterial
infections. Those who come to him ask no question, they take injection readily.

There could be any number of such clinics thriving in these areas. No one can say how many:such
doctors are reusing disposable needles and syringes and to what extent public health is endangered by this.

(squrce: The Times of India)

Answer the question given below: (10 marks)
1. Mention a very risky activity going on in the clinic.

Ans)

2. What does the doctor specialize in?
Ans)

3. How can contaminated needles be harmful?
Ans)

4. What is the writer worried about?
Ans)

5. Where is the clinic located?
Ans)

Write two words having ‘ment’ at the end. s - (2 marks)

Eg. treatment

a)

b) .
Give synonyms of the following words from the passage: e ” (3 marks).

1. disease _ 2. _polluted

3. growing




